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R W R

EHIE arzy—rt B
TR B e (m) H(m) THIH (m) R () Wi (n) | PEIWTER (n”) K B0’ % R (m) TR (n) i %) 1§
H=3. 00
NO. 14+10 — 3. 00 — — 6.38 — — 6.48 — — B=3. 25
H=3. 00
NO. 14+12. 0fF3x 2.310 3. 00 3. 000 6.93 6.38 6. 38 14. 7 6.48 6.48 15.0 [B=3.25
& H 2.310 6.93 14.7 15. 0
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IS B (m) H(m) T (m) R () WAL (n') | PEIWTE R (n) 1 A () 5 R (m) FHIER (n) R () i
H=3. 50
NO. 15+15. 01T — 3.50 — — 7.79 — — 7.48 — — B=3. 45
H=3. 50
NO. 16 4. 360 3.50 3. 500 15. 26 7.79 7.79 34.0 7.48 7.48 32.6 |B=3.45
H=3. 50
KE. 6 0. 650 3.50 3. 500 2.28 7.79 7.79 5.1 7.48 7.48 4.9 [B=3.45
& H 5.010 17. 54 39. 1 37.5
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IS B (m) H(m) T (m) R () WAL (n') | PEIWTE R (n) 1 A () 5 R (m) FHIER (n) R () i

H=2. 50

NO. 15+3. OfF 3/ — 2.50 — — 6.25 — — 2.61 — — B=2. 50
H=2. 50

NO. 15+10 5.910 2.50 2.500 14.78 6.25 6.25 36.9 2.61 2.61 156.4 |B=2.50
H=2. 50

NO. 15+15. 01T 4. 100 2.50 2.500 10. 25 6.25 6.25 25.6 2.61 2.61 10. 7 |B=2.50

= 10. 010 25.03 62.5 26. 1
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H=2. 50

NO. 15+3. OfF 3/ - 2.61 — — 2.61 — — B=2. 50
H=2. 50

NO. 15+10 5.910 2.61 2.61 15.4 2.61 2.61 15.4 B=2. 50
0 & [H=2.50
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IS B (m) H(m) T (m) R () WAL (n') | PEIWTE R (n) 1 A () 5 R (m) FHIER (n) R () i
H=3. 00
NO. 14+10 — 3.00 — — 9. 00 — — 3.13 — — B=3. 00
H=3. 00
NO. 14+12. 01T 2.310 3.00 3. 000 6.93 9. 00 9. 00 20.8 3.13 3.13 7.2 |B=3.00
& H 2.310 6.93 20. 8 7.2
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H=3. 00

NO. 14+10 — 3.13 — — 3.13 — — B=3. 00

4 X 4 = 6 A& [H=3.00

NO. 14+12. 0FF¥T 2.310 3.13 3.13 7.2 3.13 3.13 7.2 170y 7% 0.02 t|B=3.00
& B 2.310 7.2 7.2 0.02
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IS B (m) H(m) T (m) R () WAL (n') | PEIWTE R (n) 1 A () 5 R (m) FHIER (n) R () i
H=3. 50
NO. 14+12. 01T — 3.50 — — 10. 50 — — 3.65 — — B=3. 00
H=3. 50
NO. 15 8.520 3.50 3. 500 29. 82 10. 50 10. 50 89.5 3.65 3.65 31.1 |B=3.00
H=3. 50
NO. 15+3. OfF 3/ 3.370 3.50 3. 500 11.80 10. 50 10. 50 35.4 3.65 3.65 12. 3 |B=3.00
& 11.890 41.62 124.9 43. 4
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#oR BEFE (m) ¥ (m) FRER m) | (Hn2) & (m) PRpER (m) | B (Hn2) D16 = 1.56 kg/m i
H=3. 50
NO. 14+12. 0fs 35 — 3. 65 — — 3.65 — — B=3. 00
H=3. 50
NO. 15 8. 520 3. 65 3. 65 31.1 3.65 3. 65 31.1 B=3. 00
4 X 23 = 92 A |H=3.50
NO. 15+3. OfF 3/ 3. 370 3. 65 3. 65 12.3 3. 65 3.65 12.3 7oy 74y 0.14 t|B=3.00
= 11.890 43. 4 43. 4 0.14




